(1] (1) 35° z) 507
(2] x=90" —40" = 50"

(2] (1 60° iz) 307
(3] (1) 65° 2y 40°

(1 PEFT O R L Lo,
ZPPFTRR o s ML FE L vy
(4] (1) 75° (2] Zx=80" , Ly=100"
[AEsk]
(1} x=180" — 105" =75
(2] x= 180" — (40" +60" ) = 80°
£ y=60" +40" = 1007

(5] (1) 70° [z} s0°

MR X A2 sx0n € 50
HLE@Y, £, m 0
AT R EBh R E O ==y

{a m
£ x=50"+20° =70°
275" oMo z@mY, €, miZ Firaeslh@

FGTEZL.
Ly=75" —15"=60"
(6] {1 40° iz} 130°
N X S Iz siths s ¢
Lo BEher
£ y=60" —45" = 15"
Ly= Ly+25°
=15 +25°
=40"
(245 [ o & 9 02l I A
o o
Ly=65 —15"=50"
100° — £ 3= 100° —50°
=5g"
L x=180" —50°
=130°
[7] (1) vz deu, (2) Wiz A,
ZE1
(11128° = 53" @F1H% 180° Tid Ay,
(21113" + 67" = 180

[8] (1) afe 2} elid
8] (1} 45 (z) 115°
[

(1} x = 180" — (75" +60° ) = 45"
12} x="T75" +40" = 115"
o (1} 110° (2] 45"

4F FTLER (BERS

(1) 5407
(2} m O 12O MHEED G U LMo e
COEAD. HAHS LM ES D ORI AE
EMTEV. LicdisT, 120EHANG M
LAMRIE -3, ZhooaRizl-
T, n HBEONEL (-2 BO=ATI250 6
NoH. iz, ZABOA[OHNTIS . LT,
n FMIEONA O, 1807 X (n—2)
g (1 720 (z) ©00° (3} 140°
3 (RGN e, (v—2), 360
{4 (1) 60" (2} GEbUAEIE (3 162°
L
[11360° + 6 =607
(213607 = 20° = 18
(311 2>@&E, 360" - 20=18"
1-2@MMmiE, 180° — 18" = 162°
[15 128°
2La+ 22 b—180" — 76" — 104
2 (Lat b =104°, Za+ Lb=52"
Lx=180" —(La+ £ b =180" —52" =128
fis 125"
180°
=AEONICHEE-T L E,
Ld+se=Lx+ Ly Ebdb,
LatsbtLetrLdt+Le
=sa+ b+ Lot Lx+ Ly=180°
(g (1) M4y ABCD=44% EFGH
(2] 3.2cm (31 1207
(2R
(LT & Wi % W] CMIZ 4 52T <,
2l EF =3 AB=32cm
(3)£/E = ZA=360" — (78" +72° +90° ) = 120°
g (1) #i] (z) £2G=115", £I1=95
(3) 7.5cm
[200 (1) AC=DF, /i ZB=<E
(z) AC=DF, ¥£7i ZB=Z2E
[AeRi]
(32T v n ) HlREEEEALT
fz@hls, AC=DF. 7, 20k FOMafnnt
FhEFhSLvEvIFREFRLELZ RT,
SHEFSTDICE, LB=2LE
izl EFaofithEFnE L vy &N
AW A0iziE, AC=DF. 7,
Ll FOmiigO mRENEFRS L va s
FlaEtkbhEZ 6T, Zheiidi-dizig,
FB=,E

1



AABC=AKL] - 2 i L FoEaf
ADEF=ARQP -+ 1 3 & 03 8] 3 7 1)
AGHI= AMON -+ 3 3

8 AABE & ADCE 23540,
AE=DE -1}, BE=CE --(Z}
WEMITELWOT, ZAEB=~ZDEC &

W, @, @LH, 2WEFOMOM[IEFRLELE
LwvD T, AABE=ADCE

B3 (E#&Miiz) DC, <EDC, ~EBA,
130k FOmEga M Fhg Ly

AABD & ABCE 28w T,
AABC A E=METHAZ Ed 6,

AB=BC -
ZABD=/BCE &
%7, BD=CE -3

M, @, @EH, 20:FOEOMHIIFRENLE
LT, AABD=~BCE

[2s] ADBC * AFAC 28w T,
AABC I IE= MRS L, BC=AC -0
ADCE GIE=MEEa6, DC=EC -
WMo 1 2almit e 725,
ZBCD = -ACE=60° &

M, @, kb, 2HEFoloOmFEFLERE

Lvih T, ~ADBC=AEAC
(1 - x AT 10 O
w2l 5 OFE
(2} s AABC=ADEF
W £ZA=2D
7 (1) 2o@llHE LV
(z) 320N TSTHRATHLZHIE
(3) 4 -2y AT A L Py
(4} 420 lHF-<TH LMY mE
[28) (1 PESE--x A6 O
a2 o8
(2) {R5E--AABC=ADEF
#ia--AC=DF
(3) {Ei--AB=BC=CA
Himm - AABC RIE =
[ee] (1) O&FpLEFTAHMERE, OX, OV Lo
HEFHLEFNA BET5, 0A Bajulk
TAHELWREOMEhE, 2XOY NOEELN
BPETL. PFHSEOP 2 B, OPAS,
LXQOY O TR S,
{z) AAOP E ABOP 2w,
A0 =RO w1
OF izdt@m @
AP=BP (3
), 2, @Eh, 3MEBERFRTLVLOT,
AAQOP= ABOP
FHllA = fEoWtin T2 MizELwoT,
LAQP = ZBOP

4F FTLER (BERS

30 (1) WA B2 1 MA®ED, LA EPLIC
PFEAP O & A, HE e L0 EBET
Lo MPELETLEIFEPAOME, AR
LS5 EEPBOMEOZERDI L, R
P22 T, JPEMUEMONE Q 295, P
EQEHEE, PQAETHS.

(z) ~APBAE AAQPIZEHEWT,
PB=AQ -
BA=QP &
PA ZiE @
0, &), LY, APBA=,AQP
Lizdto T, ZBAP=2ZQPA k& DEgiht
HLwaT, PQYE
(1 WsE--AB/CD, #igm - La+.2b=180"
(2] AB/CD X b, gifgiiEL T,
Za=sEFD -1
F CD Iz 35T
Z b+ £EFD = 180°
Witk D, Lh+Lsa=180 EfBL.
@@. PQY/BCL D, $ifMiXFLvoT,
ZPAB=ZABC -1
ZQAC= ZBCA (@)
T, EMPQIZHWT,
ZPAB + ZBAC + £ QAC = 180°
m, @mky,
ZABC + #BAC + #BCA= 180"

@3 (1) {€5%E---AB#CD, EP=PF

#imi--EG=FH

(2} AEPG E AFPH (28T,
EP=FP -1
£EPG=/FPH (& TWify) -2
AB#CD X h, £GEP=/HFP (§ifq) --@
D, @, @b, 18EZOMEOMHFERE
N Lna T, AEPG=AFPH
L##-7T, EG=FH

B4 (1) fiE--AB=DC, BD=CA

Himm £ZABD = ZDCA
(2} AABD E ADCA 28T,
AB=DC -
BD = CA (2}
AD (3 -
o, @, @ED, 3HHEFRLFRNFLOT,
AABD=ADCA
L= T, ZABD=-DCA

2



BEOFL
) (1 &3 i2) £x=80" , Zy=105
(3) Lx=63 , Ly=255
[2) (1} 86 iz} 152° (3 607

[3) (1} Z£x=55" , Zy=95
(2) Zx=35 , Zy=85"
3} Zx=73" , Zy=115
=21

rt+40=y _ _
m{x+30+y £, x=55 y=95
x+55=90
r+50=y

“
{x+105—180
ES

o

) £, x=35 y=285

(a)
»+ (180—75) + 125+ 105+ 90 = 540

B, x=75 y=115
[4] (1) &5 {2z} 97.5°
]
(1)(180° —50°) =2 =65"
(2)65°+65" +2=97.5
(5] (1) EAMmE (2 E+ME (3 2257
MEn AL+ 5. 180° % (n—2)=1260" L Y,

n=9
(0 0 P B, 120 "‘;” Py 1,
n =10

BIEnfAEETDH. n—3=13 X0, a=16
360° +16=225"

AABC & AADC 28T
AC (ke D
AB=AD @
BC=DC @
M, @, @ED, JWHFTATFRELWOT,
AARC=AADC
Lidis T, #BAC=/DAC
(7] ~AA0D 2 ABOC 28T,
AO=BO -1
OD=0C -2
ZA0OD = £BOC (#fTify) &
), @, @b, AA0D=ABOC
roT, £2DAO=-CBO E&b, §MAd%L
VT, ADYCB
ABJEC kb,
ZA=ZACE  (§5)
ZB=<ECD ([F{Lfy)
LT, ZACD= ZACE + £ECD
=/A+72B

4F FTLER (BERS

(8] ~AADPE ABOP 23T,

OPiE Ll (D

AO=B0O @

ZAOP=<BOP -3

D, @, @b, 2WEFOMOAHBEERENLYE
Lw@ T, AAOP=~ABOP

L##'>T. AP=BP

[0 AAEDEAFEBIZE T,

ED=EB -1

ZAED = /FEB (HTf) @

ADSBC kB,

ZADE=/FBE (§f1) &

I, @, @Eh, 1#E:FOWEOMBEELER
LT, AAED=AFEB

Liz#di=T, AD=FB



